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Tax Planning and Management

Time : Three Hours] [Maximum Marks : 80
AT Wt Tl F SW I Wit T & AE
T 2
Note : Answer all questions. All questions carry equal
marks.
ST3 / Unit-1

1. A BT CUH B4 § T & WEER &
™ ad ¥ v &t ey w1 =R ffafaa

g

(@) SAUR | oY (HERR
F Ad9 A & W) 2,00,000
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v
(b) SR It @ 1,00,000
() §F = | =T 50,000
(d) WERR ® TR 1,80,000
(o) @ T 30,000

() I o€ T =wRE T|H 2,00,000
() e w=fedl 4 fafEm 30,000

() St @™ "
=M, 1988 ¥ §HI 30,000

wH F FA WA W A R AT FifSQ)

A, B and C are equal partners in a firm. For

the previous year the particulars of the income
of the firm are given below :

?
(@) Profit from business
after debting remuneration
to partners 2,00,000
(b) Long-term Capital gains 1,00,000
(¢) Inerest on Bank deposit 50,000

(3)
L4
(d) Remuneration to partners 1,80,000
(e) Unabsorbed depreciation 30,000

(f) Brought forward business loss 2,00,000

(g) Capital Gain invested
in specified assets 30,000

(h) Amount deposited in Capital
Gains A/c Seheme, 1988 30,000

Compute the total income and tax liability of
the firm.

3&ar / OR

XY Ltd. &1 31 W19 2021 ! T 3 9
€ H av-TfT fFawo 7 15,00,000 Y& @™
T ®1 3 W F HIRE T9F Debits
W Credits ¥ /= v wfie € :
Credits :

T
(@) VRAE &Y { VI (FHSA)  1,00,000

() A ¥ Yo femn
(WTHA ¥ 1,000 YT TRYTTTH!T
F 73,000 L F Q) 23,000

x
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Debits :
T

(@) ¥ FEeE 20,00,000
(b) fawa 3R F

9= 9 FIAW 1,16,000
(o fraie wen ¥ fag T

3§ satea @1 @4 60,000

(d)rhﬂahaﬁﬁmﬁﬁaaﬁ
¥ fou 9c W & =4 3,000
¢ ¥ =i gy & fog fam

T ] WO 9 W G 20,000
() Jsfem g TEA, S OSE
Tga T ¥ FHA 15,000

16.10.2020 F HTAT ¥ ¥ 9,00,000 T T
faafa faan| &9t &1 a0 @ a9 Y W
F A FAfST

The Statement of Profit and Loss of XY Ltd.
for the year ended 31st March, 2021 shows a
net profit of ¥ 15,00,000. The Credits and
pebits in the statement of profit and loss
include the following items among others :

264A_JDB_* (12)

(5)

Credits :
7
(a) Dividend from an Indian
Company (gross) 1,00,000
(b) Net Rent from House
property (Let out to outsiders)
after debiting repairs ¥ 1,000

and Municipal tax ¥ 3,000 23,000
Debits :
(a) Provision for taxation 20,00,000
(b) Salary and requisites

to the Sales Manager 1,16,000

(¢) Cost of maintenance of an

office in New York for

promoting exports 60,000
(d) Legal expenses for contesting

a suit for eviction from a

premises used as a showroom 3,000
(e) Expenses for obtaining a loan

from a financial institution for

acquiring new machinery 20,000
(f) Amount embezzled by the

cashier of the company,

which is irrecoverable 15,000
The company has distributed dividend
7 9,00,000 on 16.10.2020. Compute the total

income and tax payable by the company for
the relevant assessment year.
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Za&Tg / Unit-11
2,@@??(-1?‘1@@1%7%%‘1
SRl & fF w1 wEa § A W@ H-
fruf ¥ F TRom B €2 W@ F-frefo
R w o S @ F ST F o
U Hifaq |

What is an ex-parte assessment? In what
circumstances can it be made and what are
the consequences that flow from such an
assessment ? Also state the remedies open to
get such an assessment set aside or modified.

37T / OR
T F-fufm ¥ o & gued €2 1%
fea ftfeafedl & fear wman ®2

What do you understand by Reassessment ?
In what circumstances is it done ?

F&TE / Unit-II
‘Eed & frofln @ afufem A4 guem
& Fol ¥ R W wE frand fafan)

Write a note on ‘Planning is the context of
Court Rulings and Legislative Amendments’.

379ar / OR
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A, BT CA UF wmEam sy w m
fremm fem s fom 393 om ow
7 6,00,000, 73,00000 TH 7300000 ¥
AR TRAET T 12% w7 @
oA 1A F 720,000, B F 7 10,000 TH
C ! 10,000 TG da a1 =19 2 - 1 - 1
& A 4 oM s 4 = w e
@ 91 9 3 B wE ¢ F:oam w o
et ot W =w & 73,00,000
I A #

AT & faleg & @ 4, B E C
Ta® W f 3% et v e =it
YA 4 F1 Thd @I 1 F999 TF B
T C IWF WRM T FHAM F w9 F
FR T Al I F-AMaA F9 & G|

YA 1 AT 22 I GFE b 9§ A
T df)

A, B and C have decided to set up a business.
For this purpose 4, B and C are having
76,00,000, ¥3,00,000 and ¥ 3,00,000
respectively. They wish to charge interest on
their capital/loan @ 12% p.a. Salary to 4

. ¥20,000, B ¥ 10,000, C ¥10,000 p.m. and

share profits in the ration 2:1:1 or B and C
to receive half the income as salary
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as the sole owner of t
the income of
ital/

nominating 4 he
business. They expect
¥ 8,00,000 (before charging interest on cap
loan) during the relevant year

As an income tax expert you are agpmached
by 4, B and C for considered opinion as 10
whether they should have a ﬁrm or a sole
properietary concern of A, while B and C

becoming employees and money-lenders to the

concern so that they can reduce their tax
liability ? What is your advice and what
arguments would you give in support of your

advice ?

s / Unit-IV
AL@.@W%W?@HWM
%lﬁmmﬁﬁmmm%
ﬁmasﬁ-rqn,oo,oo,oooaﬁaﬁwmﬁvﬂl
srit affaa ot @ EEwm & fau

(9)

AR A ot g it W e weam 2sv
(F A @) #1 3f yH0 F =g § ot
T I HutmEl g s T w am
20% 1 A fem st w1 7w wh s
H T 25%, AR F 7 7% aw @A
T e 3w W @ 4% 2
m FE B TR Y oa T
azft T % fag #H-w fawe 4 afs
sl # afusan o 2 )
A4 Ltd. is a widely-held company. It proposes
to increase its production for which it will
require ¥ 1,00,00,000. The company proposes
the following three alternatives for the
structure of the additional capital :
First Second Third
Alternative |Alternative|Alternative
®) ) ()

Share Capital 1,00,00,000( 40,00,000 | 20,00,000

10% Debentures - 40,00,000 | 30,00,000
Loan from financial
institution (Int.12%) - 20,00,000 | 50,00,000

o faereq| fedia faemea|gara faswed
€)) @) x)
EC A 1,00,00,000{ 40,00,000 | 20,00,000
10% SRUT9S - 40,00,000 | 30,00,000
fociia e @ =9
(I 12% F QT R) - 20,00,000 | 50,00,000
264A_JDB_% _(12) (Continued)

Expected return on capital employed is 25%
(before tax). Generally companies engaged in
similar business are paying 20% dividend on
its share capital. Assume tax rate is 25%,
Surcharge 7% and Health and Education cess

4%.
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You have to advise the company as to which
alternative it should choose for the capital
structure so as to pay maximum dividend to
the shareholders.

3¥GT # OR

IS F wE F @ g A e S
¥ Y wefrwa 3 ok w4
(a)mﬁmmmwmmmﬁm
(b)mmﬁmmmwaﬂm

From the point of view of tax considerations

which one of the following would you prefer
and why ?

(@) Payment of dividend or issue of Bonus
shares

(®) Issue of Shares or issue of Debentures
FHE/ Unit-v

3mm-ﬁ%faﬁmmwm
FA S 2

What are the Payments on whijch tax is
deducted ap source ?

ST¥ar / OR

(Continued)
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T* =IH\ i = aem a6 2021-22 §
f=fafEs s 3 = FEHE %

¥

HHH H99 ¥ =@ =g 1,00,000
™ I FEE a3 7,50,000
<&t 39 3 == 5,000
@0339333'° 3 =
I W (F99) == 15,000
(@) =} TESTS wiEsw

HIE §Q 3 I =00 40,000

(@) F& S S G I 20,000
T 9% 2021-22 § TiwRE R T ==
A = N T SN W T R
= S Jea g

An individual sssessee estimated the following
: for the Financial Year 2021-22:
tncome -

Taxable income from house property  1.00.000

Taxable income from profession 730,000
Dividend from foreign company 5,000
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